Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

|Registration No.

Name

Test Venue Keen College Bikaner
Test Time 10:00 AM - 11:00 AM
Test Date 02/07/2019

Section : General Intelligence

Q.1 fA=fafEd ar =l & @ = 21z ver fAfYa aiid @ uer 519 & ok Ueh 31eT &1 39 31e7T QA ht
RIEN

Ans  of 1 el
X 2 e
X 3w
X 4.

Question ID : 98958015427
Status : Answered
Chosen Option: 1

Q.2 fA=fafEd arR dEarsit @ @ 9 9] g fAffa ot @ ues St & 3R Teh 3 @1 39 S1ert
&A1 & 994 HifSg|

Ans X' 1 4147

/X 2.9368
of 3.7298
/X 4.8205

Question ID : 98958015435
Status : Not Answered
Chosen Option : --

Q.3 fA=fofla ar srarR-agl # @ & sigr-wwgg ua e o & g 4 & ok gk s 81 39
ST JER-HHE &l gl

Ans  of 1 GSVE
/X 2. MNQJ
75 3.CXGT
/X 4.LOPK

Question ID : 98958015426
Status : Answered
Chosen Option : 1

Q4 g 37 wmrm FT TUF FY S AT T ¥ @19 F @Ew F §Ey =oT aoar ¥

F=T AT, AT, AR

Ans




X 2

53 ©0f

Question ID : 98958015442
Status : Answered
Chosen Option : 1

Q.5 TH 31ar & HIIT o1 Ia+1 o3 St foh & 7T 918 siEet & Reh Tl A ShATgER U 9 7@ S
R T hl ORT h|

ab_ba_babd_acbh_bdba_b
Ans x 1. cdabc

J 2. dcbac
X 3. acbed
x 4. dcabc

Question ID : 98958015423
Status : Answered
Chosen Option : 2

Q.6 fFAm=fafRe siaer & wi9-d e us Rg (?) & uE w® anefi?

5,9, 18,43, 92,213,382,?
Ans X" 1328

o 2671

75 3.617
X 4.382

Question ID : 98958015434
Status : Answered
Chosen Option : 2

Q.7




=7 ey # TUS FY S A & 7 ey datRa ¥

Ans

Question ID : 98958015439

Status : Answered

Chosen Option: 2

Q.8 5TEH hyH uRarR d, X, Y i agagI M F &t o= & SR ag E s der 8, Sit H T SR &1 H &t
Teh @ ST 1Y, E Y uicht 9T &1 X 1 E @ o iy @2

Ans ?‘U-W
/X 2. diar
X 3.3
of 4 o

Question ID : 98958015424

Status : Answered

Chosen Option : 4

¥ A & g ey F Baw Rew A

Ans ?‘ﬁ- 12
<214




<310
v 13

Question ID : 98958015438
Status : Answered
Chosen Option : 4

Q.10 ITge & U %2, 35 37k 310 Hegant & A1l d T340 §1 Uedes Joaa & Aie] Sl Hear sRTeR &l
Mgt & Ut Fed fohet e &2

Ans o 1 60
X 2. 40
/X 380
X 420

Question ID : 98958015429
Status : Answered
Chosen Option : 1

Q.11 39 farered 1 o= o Sit iR S1aR-Tig ¥ I avg Hafdd & S g1 31eR-Ug Uge JER-
g | Hefda 81

MARKET: IEONCV:: THERMO:
Ans X" 1. JLZUKQ

/5 2.PLDSKQ
o 3.PLBUKQ
75 4. JKCTKQ

Question ID : 98958015421
Status : Answered
Chosen Option : 3

Q.12 fA=faf@d gl ot arfdher ofiz Trefer svm A aafedq &

1. gerafa

2. 3rae

3. Fid R FAgfe
4. fafEa aden
5. ARe g=ht

Ans X" 1.3,2,4,1,5
5 24,2531
/X 32,5431
o 424531

Question ID : 98958015418
Status : Answered
Chosen Option : 4

Q.13




3H HPI & T L A AT & TS HPIT HW H HeTe T T HCE

D@o@o

o
[ /o
< [©
| ®

Question ID : 98958015437
Status : Answered
Chosen Option : 4

Q.14 I M- &I 9 & fad & 2reg I} aeg @ daifda § 94 Freafaf@a eree-gra # 3t ore
wafoa gl

o3 : ufgan

Ans X1 e ogeT
X 2 fiw: dog
/< 3.0 e
(44-‘21782{:3'@21

Question ID : 98958015425
Status : Answered
Chosen Option : 4

Q.15 39 faehea @l g Sit fiedt T @ I ave @ Hafda § S gudt S uge e @ |@afda @1
54:41::32: ____
Ans X" 1 29
K 2m
o 3 13
X 417

Question ID : 98958015431
Status : Answered
Chosen Option : 3

Q.16




S TE U H HFA F &% HR W FF O e v By i wdr oo o & o1 w1

e
(
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Question ID : 98958015441
Status : Answered

Chosen Option: 2

Q.17 39 =4 ol gA fOHTH & It avg Ha6fda & o9 fon Peafofaa agog & d@d d@&6fa
gl

(4,10, 23)
Ans  of 1.(2,6,15)
25 2.(4,12,21)
/X 3.(7,23,49)
X 4.3,7,17)

Question ID : 98958015432
Status : Not Answered
Chosen Option : --

Q.18 afé MASTER <kl 26138402536 & ®U # ehisasg fehar 4T & 3R GOVIND <ht 142254481288 &
U # higag fohar mar &, 9 BACKSPACE &kt &l shtsdg fomar smemm?

Ans X" 1.4172393337125

of 2 4162238321625




/X 3.5172933373215

/< 4.5172339317125

Question ID : 98958015420
Status : Answered
Chosen Option : 2

Q.19 ‘Cardiologist’ is related to ‘Heart’ in the same way as ‘Chiropractor’ is relatedto ‘______".

Ans

x 1. Foot
o 2. Joints
#5 3. skin
75 4. Chest

Question ID : 98958015422
Status : Answered
Chosen Option : 2

Q.20 7 U= g g &, 39 are A= Fsed |, 11 3R 111 R g &)1 Fu=l o6t 9 wd g, v d

Ans

3 R R 7T a2l @ a1 gl, ag fAvfa SifSe 6 wi=-a1/a fAsed =t & arfdhes so @
STIERYT el &/ &1

HYU:

o Ry wRad g1
Fo wfaarg Adere &
goft e e &1

forsentf:

I. g A2 wfaand &
Il. F© e e &1
Ill. 5 T Hfaamd &

75 1. Sarer s 11 3R 111 SeR0T a6 €
o 2. dae frsd | ok 11| srgERoTaR &
7K 3. e s | 3R 11 3ERo &R &1
#<. 4. e forsem | SrgERoT el 1

Question ID : 98958015428
Status : Answered
Chosen Option : 2

Q.21

Ans

TF & O @ 2 seer-areeT Tufaat & A g o ¥ 4 HET AT B F WEe 9 e A
Hifaw)

2 1

K11
K26
K33
2

Question ID : 98958015436
Status : Answered
Chosen Option : 4




Q.22 Ffafea wfieeor @t @d a7 & o 3o 5 5 Rigl o go-gR @ age=n gmm?

24+2+13-54%x2=34
Ans x 1.-3R x

X 2.8+
x3.+3ﬁ?x
¥4‘xaﬁ?+

Question ID : 98958015430
Status : Answered
Chosen Option : 4

Q.23 e & =% ampAaET F BT T FGER T FES F A AT Fer A E A FEA e |

feamg &=m?
Ans
P a
v
N N
LN
X2
~ ~F
i
Pal
X 3
~
=
AN AN .
F
NS

Question ID : 98958015440
Status : Answered
Chosen Option: 1

Q.24 39 T=9A &t gA fSoH T 3¢ avg S6lla § o s fRafafEe agea i de]d d@&=6fe
gl

(5,2, 30)
Ans X" 1 (4,3,28)
o 2.(7,8114)
75 3.(9,2,87)
X 4.(51,29)

Question ID : 98958015433
Status : Answered
Chosen Option : 1




Q.25 Ue I HTeT &, PERMUTATION &t IBKFRMXMFLG forat siar &1 3t wmst § PUBLICSECTOR

ot et forar srgem?
Ans X" 1.IRVEFVLBVMLK
75 2. ICUFEVLBVNLK
W 3. IRUEFVLBVMLK

75 4.ICUFEVLBVMLJ

Question ID : 98958015419
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 9 &F g1y ga@ «<ft dar Fafaiaa @ @ g asa & ary et 82

Ans  of 1. sromee
75 2. Rferew
X 3. IRrEe
7 4. e e

Question ID : 98958015048
Status : Answered
Chosen Option: 1

Q.2 3ge T3 Yae 1876 & UTRR 811 & &R, fafeer uemsh e 47
Ans X 1 faforw gaé e

75 2. IR SRR
/X 3 S @e
o 4 dfir s

Question ID : 98958015053
Status : Not Answered
Chosen Option : --

Q.3 areHifR IHTOT 1 TE T TEad WRd & foRe wea A fRua @2

Ans X1 IR
X 2. FmiEs
/X 3. dftrerrg
o 4 e

Question ID : 98958015051
Status : Answered
Chosen Option : 4

Q.4 2019 & 7Y Sk wfies & gen, vy R 7uad Iaw darer et § § g smafea frar

T UT?
Ans X 1 7% Rig awR

Jzﬁﬁ:[wmn@m&

/X 3. e argEE




/X 4 e et

Question ID : 98958015056
Status : Answered
Chosen Option: 1

Q.5 F=fafRa 7 @ @i a1 2ree forwal & o1 & pra & et ar i o) @efRia dear 82
Ans X 1 fe g

X 2. dgadm

X 3. Rerite e vt

o 4 wiRerdRe

Question ID : 98958015042
Status : Not Answered
Chosen Option : --

Q.6 Sfgadl (GST) & ey A Sfreadtansa=t (GSTIN) 1 guf = a1 82
Ans X 1 1y Ve Gfidw do ageR e e

25 2. ¥ G afiae 2eRisH S e

/X 3. 75T U Al 2ag smmRE daR

o 4. 15T e afet 2 emsdRftRdeE e

Question ID : 98958015041
Status : Answered
Chosen Option : 4

Q.7 f=afafEa 7 @ o el &1 ugen U s a1?
Ans X" 1. afrem g

o 2 R =t

/X 3. qeRe e

/X 4. qewE ag

Question ID : 98958015052
Status : Answered
Chosen Option : 2

Q.8 fF=fafRa 7 @ wivr-ar werhifae ae1 2019 & FlhaHT gHTET # WISTUT & A a1et gISIg &1

geart & & ur?
Ans X" 1 RRIufOr srreh zet
o 2 S
7% 3. iy o o
X< 4. germdrds

Question ID : 98958015057
Status : Answered
Chosen Option : 2

Q.9 T Tt fohe af ges st dhusit & = & Tenfoe forar mam ar?
Ans X" 12005




75 2.2000
/X 3.2002
o 41998

Question ID : 98958015047
Status : Answered
Chosen Option: 3

Q.10 HugeR AR & I &5 el AT gl ST g STl TR-IR TaAd fhg g 2T ot doft & gais et

& forg @R forar s T &:
Ans x1ﬁ
o 2 &

75 3. dw

X 4w

Question ID : 98958015046
Status : Answered
Chosen Option : 2

Q.11 F=fafE@a 7 9 w9-91 I AuTe &Y 9= § e e 872
Ans &1 siife

X 2. a@m

o 3. RifFwm
X 4 Rer

Question ID : 98958015049
Status : Answered
Chosen Option : 3

Q.12 arwfieeor 3R gaut Fit Tgh AfehaT o gl ST &
Ans x1_m

o 2. smaafaR

75 3. RreesfaRor

/X 4. avideA

Question ID : 98958015044
Status : Answered
Chosen Option : 1

Q.13 forew ‘Y gor 13 A & e i 87
Ans X1Wﬂﬁ?ﬂ

o 2 s

X 3. fomriay e

75 4. her SfwsIeRTST AE

Question ID : 98958015055
Status : Answered
Chosen Option : 4




Q.14 @& R wgraw arfefs Hfaal # @ o agrrer 'SmrEt &1 dEsw i 8?
Ans X 1. e g R

75 2. e

75 3. HigH b

o 4 srasieR ve

Question ID : 98958015039
Status : Answered
Chosen Option : 1

Q.15 <7 2019 #, Bwfient $f3ar A fFa s1g e A=gtharaRi wiie a9 & forg 70 fAfer ster @t
A1 e 1 vTa TE@m?

Ans o 1 IR
X 2. v
X 3.Erg
X 4. 7o

Question ID : 98958015062
Status : Answered
Chosen Option : 4

Q.16 Py & @ @ 2019 F 100,000 SfeR aTet AT Sew QR 1 RokT 22
Ans qu—.ﬁaza

< 2. Ry o

/X 3.3 o

/X 4. srufa g

Question ID : 98958015054
Status : Answered
Chosen Option: 1

Q.17 Teh-r-ama (2T ot wuAe), it R et 3 Ry e worer et A 2, ape v 2
Ans &1 mermR

X 2. Imwy

/X 3. R

W 4 T

Question ID : 98958015040
Status : Answered
Chosen Option : 4

Q.18 U+ gwiRert A, A elem-aRan e W srgr e g, srem ok i sfisar gl
Ans X1 Aurer

75 2. uffm §mme

W 3. s R

/< 4. Rifm

[ Question ID : 98958015050




Status : Answered
Chosen Option : 3

Q.19 F=fafeEa 9 & fram 2018 gfans <t A gewardt afeaifiar & 7 uge sfiar?
Ans X' 1 @ FAR

X 2. = Rig

/X 3. et wfren

W 4 e st

Question ID : 98958015059
Status : Not Answered
Chosen Option : --

Q.20 2018 & QiRaTE Wl d ISTd Ugeh Siia arell MR AfgelT thagl & &Y e i A?
Ans X1 meifid AR

75 2. aferh ures
o 3. o e

X 4. Rg¥h

Question ID : 98958015060
Status : Not Answered
Chosen Option : --

Q.21 ur Rig dt, it wra A gt AR @ % A, BefafRa § d R da d R gr
Ans X" 1 e then

2. <t gsds ()

X 3.8

X 4 &R

Question ID : 98958015058
Status : Answered
Chosen Option : 2

Q.22 f=faf@d 7 9 fFa arg & A1 ArTe 3w giar &2
Ans X 1 et

X 2. e

of 3. <

/X 4. df

Question ID : 98958015045
Status : Answered
Chosen Option : 4

Q.23 #E 2019 #, YR TXHR 7 Yo 1< T ht Fopdt &1 & [Sad 60 af hir sirg ured et & ag afi
hMER], g1 ARl ik @-faifSa saferal ot =gaas aifdies dem o steyree Rar mar g1
9 gt | U Afy fhaet &2

Ans o 123000

75 2.25000
75 3.27,000




75 4.210,000

Question ID : 98958015061
Status : Answered
Chosen Option: 1

Q.24 PrefafRE @ @-eh o/ Rt e omafRy areh frem e ae/ R &2
Ans X" 1 oRid fareot

75 2. gemadt

X 3. R ad

of 4. ot

Question ID : 98958015043
Status : Answered
Chosen Option : 2

Q.25 31 7 o gy dearg Py Rawr' & s o 7w wew A §-RRe W ufdsy & far?
Ans X1 IR

X 2. mw

X 3. TR

o 4 o

Question ID : 98958015063
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q.1 ﬁ?mq\amrqwm%uﬁra'&sﬁra?#%aﬁamm&mohaﬁrwwﬁma
ﬁz%ﬁwaﬁm%ﬂmmmﬁmﬁﬁﬁaﬁ%(mﬁuﬁﬂm?

Ans  of 1. F2,272
X 2 32,327
X 3 32,227
X 4 32,372

Question ID : 98958015742
Status : Answered
Chosen Option : 1

Q.2




T aT 3T MW (AN aF) F T S F o 3wt & @ AC meiEt F wew 3o it aafas
3cTEe @ ZTET I B

120
100 100}
20
70 =
80
60

&0 50
40 30
20

0

san Feb May

80
March April

Producton (in Thousands)

mTarger mActual

sl AR e mE F AC TS 7 wgEd @ 3oves it A wE e A & AC mE F
ﬁgﬁmﬁﬁmmwmﬂ?mz

Ans X 1.3:2
K22:3
<34:5
vi5:86

Question ID : 98958015755
Status : Answered
Chosen Option : 4

Q.3 15 cm 3T 12 em = T & g77 WeR Fed §, HR 3HF FwfEss Sfar f F9E 18 om §1 3AF
Har & & Fr gt (cm #) Baer 87

Ans X112+ 247
v 2 12+ 37
K3 18447
K4 15447

Question ID : 98958015748
Status : Not Answered
Chosen Option : --

Q4 gfra+b+c=5,a2+b2+c2=27, 3R a*+b*+c® = 125 &, &F dabc & AT &

Ans X115
V2 —20
X3 —15
X 4 20

Question ID : 98958015747
Status : Not Answered
Chosen Option : --

QS5 A3t B & @ g 2 ;3 & AT 3% o w T 1 2 §1 A B F =T F 0% A F
T F T §, & A AR B B a9 & e e §2

Ans X'1.9:8
v28:7
X33:2




Xa1:1

Question ID : 98958015741
Status : Answered
Chosen Option : 2

Q.6 AABC #, AB = 7 cm, BC = 24 cm 3R AC = 25 cm ¥ IR G = &7 g &, & BG #r ==
(cm #) et &7

2
Xg=
3

X210
<39

1
vigZ
3

Ans

Question ID : 98958015750
Status : Answered
Chosen Option : 4

Q.7 fiwow dz 3w (A WE) § R S & o ast & e AC mefEt & wew soues 3 aafEew
o T geTET T Bl

I
'
S

- 120
g 120
H 100 100)
s 100 90
I3 &80 80
- 7
= 60
M Sﬂ
]
T 0 30
H
T 2
a

o

Jan Feb March April May

mTarget mActual

T, e T ®E A # AC R F $F daF Iees, W O A & SN Tl awarad
ICUES T fahadell GTIeT O (Veh S3Hed Tl deF HET #1)7?

Ans X 1. 46.8%
v 476%
X 3 46.2%
X 4 47.1%

Question ID : 98958015758
Status : Answered
Chosen Option : 2

Q.8 wr wofta B avg & 8% & @il T dwaT 1 TG 3WS 3@ IEG F 10.5% & T 9T &= g, A
38 87 HiOe e 9Tg F FT A5T w4 82

Ans - X1.3210
X 2 7240
X 3 F250
v 4 7200

[ Question ID : 98958015740




Status : Answered
Chosen Option : 4

Q.9 FAE w=F T & & FAET &F 9T T € fem F wHer 54 kmih 3T 42 kmvh oy @ ww @ E
&S T T I g & A 63 Tehs F IR T AT &1 TAF I e (Hex #H) Baer #7

At of 1.105
X290
<2 81
X+ 210

Question ID : 98958015735
Status : Answered
Chosen Option : 1

Q.10 fr 71w & M@ (FR ) & fodr Sy & o avf & ghe AC meiET F T seues #Y aaRe
IUES F AT WA B

100
90
80
70
60
50
“
Jan Feb

80
March April May

B
S

120

o]
S

Producton (in Thousands)
5888

o
o o

mTarget mActual

frw A # AC ®efiAT T aTEdide 3c9eH, w&d 3c9eT ¥ 25% U «r?

Ans x1;|é_
X 2 wraElr
v ar
X 4 FAIE

Question ID : 98958015757
Status : Answered
Chosen Option: 3

Q11 zr gy Jeat H Frswe 15 em 3R 9 om §1 92 Ie7 F S F owS frae § S R 3o W

= Hirce g dl
Ans X118 cm

<220 cm

<3 25 cm

v 4 24 em

Question ID : 98958015749
Status : Answered
Chosen Option : 4
Q.12 -
1 2-5in“0
It cotd = —, ar ———— + (cosec?0 + secd) = 7S &

\IE]

1-cos2h




Ans ?‘ﬁ-

X
S
GO

Question ID : 98958015752
Status : Answered
Chosen Option : 4

Q13 A BR20% 31F T ar B, C ¥ 25% 3w 31 sWoaR C, D ¥ 60% &7 & 3w D, E & 20%
f@iéma:m,ﬁmﬁﬁaﬁﬁmuﬁ%?

A WA D ® 40% HH B
X2D, B#&60% F7 ¢l
X3 E, AT 28% #fOF I

X4 C, AT 24% & Tl

Question ID : 98958015739
Status : Answered
Chosen Option : 1

Q.14 3fy 30 =fem vfafte 8 o2 F@ 3 gU fomlr #10 =1 10 R # q@ #3a §, & 40 =i =
gfafes fraet B¢ #1a T 2 a1t 3 30 6 RET & 9o =v w2

Ans X1 G
X212
X3 8
v 410

Question ID : 98958015734
Status : Answered
Chosen Option : 4

Q.15 7fr so-atet FT BT M4 M FEM 2 ¥ RwBE B AT A y F Tew 9@ 79 ¥ R
Jox+y F A fFaar geme

fre X447
v26
X3 8
X 4 27

Question ID : 98958015743
Status : Answered
Chosen Option: 2

Q.16 7fr cos20—sin?6—3cosf+2=0, 0°< 6 < 90° ¥, &t 4cosechd + cotd = AT Thaar &2

Ans ?(1 3




V2 3.3
X34
X4 443

Question ID : 98958015754
Status : Not Answered
Chosen Option : --

Q17 172 + 4p% +49¢% + 18 = 2(2b + 28¢ — a), then the value of (3a + 2b + 7¢) is:

Ans x1. 1
<20
Vs 2

<43

Question ID : 98958015746
Status : Not Answered
Chosen Option : --

Q18 3.fc c.(6-7)x8+9)

4+4x4+4 of 4
Ans 1

O P
x 45

X2 =

18

\fs.l

90

Question ID : 98958015744
Status : Not Answered
Chosen Option : --

Q.19 fardr e & 90 Tagmnddt &1 3o @ 70% Toeamedf 7w A @ § ailv shr v B @) wdewr F = B &
et = g uras W A F et F dua oo ¥ 20% 30§ ofy me et

Fr AT et 53 ¥, @ 7T B F et 7 sitwe o e ¥

Ans X 1. 64
X2 54
X 3 50
v 4 60

Question ID : 98958015737
Status : Answered
Chosen Option : 4

Q.20




T 71T 3T MW (T aF) F Ry S F o 3wt & @ AC meiEt ¥ wew 3cue it aeafEs
3T T ST I B

Bop o
88 8

588

Producton (in Thousands)
8

o

120
100 100
20
80 80
70
80
50
“
Jan Feb March April May

mTaget wActual

Ao FES H AC ARfEl @ aEafas Soaes, i FEel F Sl Mg Jsw soaea ¥ feaer wigea
HF ar?

Ans x1~ 9%
v2 11 %

]
X s 10§ %

< 4 10%

Question ID : 98958015756
Status : Answered
Chosen Option : 2

Q21 T3 svg & A 7FT W 10% ©E & % @ig, S& 360 F &=r m ¥ WY ge 4 & e & 25%
FT T EAT IEG FFT qed o &7

Ans X 1. 350
V2 320
X 3 ¥325
X 4 360

Question ID : 98958015738
Status : Answered
Chosen Option : 2

Q22 gfx 33x% 22y° = (V3xv2y)(Ax2 By + Cy?) &, & (A%B%+C2) = 7 &
Ans X110

<21

Vs 7

X417

Question ID : 98958015745
Status : Answered
Chosen Option : 3

Q.23 AABC #, 3= AB 3T AC W Fae: D 3R E g sw v § B DE | BCI 3™ DE: BC 3 : 5 &,
& (AADE #T &%) © (99 DECB &7 &9%a) §:

Ans X1.3:4
<29:25




<35:8

v19:186
Question ID : 98958015751
Status : Answered
Chosen Option : 4
Q.24 (secB+tanB)(1-sin@)

cosecB{1+cos8)(cosecB-cotl) %ﬂ

Ans X 1. sec#h
< 2 sind
V'3 cos@
< 4 cosect

Question ID : 98958015753
Status : Answered
Chosen Option: 3

Q.25 fodt o9 gediim o 1 @A 924 om® ¥ W SHET WS 18 cm ¥, & SEF AN FT SuHer
(em? #) &

Ans X1 176
v'2 154
X3 198
X 4132

Question ID : 98958015736
Status : Answered
Chosen Option : 2

Section : English Language

Q.1 Select the most appropriate meaning of the given idiom.
to air dirty linen in public
Ans ( 1. to discuss private affairs in public
x 2. to stand up and fight
x 3. to continue to complain

x 4. to hang out clothes in the open

Question ID : 98958015308
Status : Answered
Chosen Option : 1

Q.2 Select the wrongly spelt word.
Ans x 1. assure

x 2. assuredly
X 3. assurable

J 4. assurence




Question ID : 98958015312
Status : Answered
Chosen Option : 2

Q.3 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. He often asked questions which were strange and witty.

B. Emperor Akbar was in the habit of putting riddles and puzzles to his courtiers.
C. Once he asked a strange question that confused everyone.

D. It took much wisdom to answer these questions.

Ans X" 1 CABD
#< 2.BACD
o 3.BADC
75 4. ABCD

Question ID : 98958015301
Status : Answered
Chosen Option: 3

Q.4 In the sentence identify the segment which contains the grammatical error.

| visited my friend to whom | had made an appointment.
Ans X" 1.|visited my friend

X 2. an appointment

J 3. to whom

X 4.1had made

Question ID : 98958015290
Status : Answered
Chosen Option : 3

Q.5 In the sentence identify the segment which contains the grammatical error.

The Public Works Department has propose to construct an elevated corridor which will run
parallel to the National highway.

Ans X 1. to construct an elevated corridor
x 2. to the National highway
J 3. The Public Works Department has propose

x 4. which will run parallel

Question ID : 98958015289
Status : Answered
Chosen Option: 3

Q.6 Select the most appropriate antonym of the given word.

SUCCINCT

Ans X1 curt
o 2. lengthy
x 3. terse
/X 4. pithy




Question ID : 98958015306
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate antonym of the given word.

EXOTIC

Ans x 1. alien
J 2. ordinary

x 3. colourful

x 4. curious

Question ID : 98958015305
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate synonym of the given word.

HIND
Ans x 1. front

x 2. first
X 3. near
“ 4. rear

Question ID : 98958015303
Status : Answered
Chosen Option : 4

Q.9 Select the word which means the same as the group of words given.

A group of singers in a church
Ans 5" 1 band

x 2. host
“ 3. choir
x 4. troop

Question ID : 98958015309
Status : Answered
Chosen Option: 3

Q.10 Select the correct passive form of the given sentence.

The gardener has mowed the lawn.

Ans x 1. The gardener has been mowed by the lawn.
J 2. The lawn has been mowed by the gardener.
x 3. The lawn was mowed by the gardener.

x 4. The lawn is mowed by the gardener.

Question ID : 98958015291
Status : Answered
Chosen Option : 2




Q.11 Select the wrongly spelt word.
Ans x 1. barrier

J 2. berrel
X 3. berry
x 4. barren

Question ID : 98958015311
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate meaning of the given idiom.

throw in the towel
Ans X" 1. drop something

x 2. face the situation
x 3. think of a solution
( 4. admit defeat

Question ID : 98958015307
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate synonym of the given word.
INNUENDO
Ans X" 1 proof
x 2. verification
x 3. evidence

J 4. implication

Question ID : 98958015304
Status : Answered
Chosen Option: 2

Q.14 Select the most appropriate word to fill in the blank.

In spite of being born in an
notable statesman.

Ans X" 1 impeccable

X 2. intelligent
J 3. impoverished

family, he chose to fight all odds and emerged as a

x 4. immaculate

Question ID : 98958015314
Status : Answered
Chosen Option: 3

Q.15 Select the correct indirect form of the given sentence.

Mrs. Gupta said to me, "Why are these boys standing in the sun?"

Ans x 1. Mrs. Gupta said to me that why are these boys standing in the sun.

x 2. Mrs. Gupta told me why those boys are standing in the sun.




x 3. Mrs. Gupta asked me why were these boys standing in the sun.

« 4. Mrs. Gupta asked me why those boys were standing in the sun.

Question ID : 98958015292
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Big Ben is the UK’s most iconic symbol. Since 2017, the Elizabeth Tower and the bell inside
have been (1) renovation. The structure is 160 years old and (2) regular
maintenance. (3) many years, people had been painting the hands and numbers (4)
__ theclock black, but last Thursday, the workers (5) the clock’s original colour,
Prussian Blue!

SubQuestion No : 16
Q.16 Select the most appropriate option for blank No. 1.

Ans ( 1. undergoing
X 2. undertaking
X 3. undermining
X 4. understanding

Question ID : 98958015296
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Big Ben is the UK’s most iconic symbol. Since 2017, the Elizabeth Tower and the bell inside
have been (1) renovation. The structure is 160 years old and (2) regular
maintenance. (3) many years, people had been painting the hands and numbers (4)
__theclock black, but last Thursday, the workers (5) the clock’s original colour,
Prussian Blue!

SubQuestion No : 17
Q.17 Select the most appropriate option for blank No. 2.

Ans X" 1 need
X 2. was needing
X 3. is needed
« 4. has needed

Question ID : 98958015297
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Big Ben is the UK’s most iconic symbol. Since 2017, the Elizabeth Tower and the bell inside
have been (1) renovation. The structure is 160 years old and (2) _____ regular
maintenance. (3) many years, people had been painting the hands and numbers (4)
the clock black, but last Thursday, the workers (5) the clock’s original colour,
Prussian Blue!

SubQuestion No : 18




Q.18 Select the most appropriate option for blank No. 3.
Ans 5" 1. About

X 2.1n
« 3. For
X 4. Before

Question ID : 98958015298
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Big Ben is the UK’s most iconic symbol. Since 2017, the Elizabeth Tower and the bell inside
have been (1) renovation. The structure is 160 years old and (2) regular
maintenance. (3) _____ many years, people had been painting the hands and numbers (4)

the clock black, but last Thursday, the workers (5) the clock’s original colour,
Prussian Blue!

SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 4.

Ans 51 10
X 2. for
W 3.of
X 4. at

Question ID : 98958015299
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Big Ben is the UK’'s most iconic symbol. Since 2017, the Elizabeth Tower and the bell inside
have been (1) renovation. The structure is 160 years old and (2) regular
maintenance. (3) many years, people had been painting the hands and numbers (4)

the clock black, but last Thursday, the workers (5) the clock’s original colour,
Prussian Blue!

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 5.

Ans & 1 imparted
x 2. concealed
« 3. discovered
x 4. invented

Question ID : 98958015300
Status : Answered
Chosen Option : 1

Q.21 Select the word which means the same as the group of words given.

One who does not tire easily
Ans X 1. inevitable




J 2. indefatigable

/< 3.indelible
/X 4.infallible

Question ID : 98958015310
Status : Answered
Chosen Option: 1

Q.22
Select the most appropriate word to fill in the blank.

People’s will and determination can help them most of the challenges of life.

Ans “ 1. overcome

X 2. overdo

x 3. overvalue

X 4. overview

Question ID : 98958015313
Status : Answered
Chosen Option : 1

Q.23 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

| hope never to have another so experience as | had in Puri during Cyclone Fani.

Ans x 1. same experience as
J 2. such experience as
X 3. No improvement

x 4. as experience as

Question ID : 98958015293
Status : Answered
Chosen Option : 2

Q.24 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Most of them are in jail because of their circumstances.

B. Not all prisoners are hardcore criminals.

C. So, they deserve a chance to rehabilitate themselves.

D. Therefore, learning a trade would help them reintegrate with society.

Ans X" 1 ABCD

/5 2.DCBA
/< 3.BDCA
o 2.BACD

Question ID : 98958015302
Status : Answered
Chosen Option : 4

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Oh, what a lovely necklace! You need no buy such an expensive gift.




Ans X" 1. No improvement
« 2. needn’t have bought
x 3. hadn't needed to buy
X 4. didn't need to buying

Question ID : 98958015294
Status : Answered
Chosen Option : 3




